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Section 4.3 Right Triangle Trigonometry

Quick Review: Label triangles & Pythagorean Theorem
gl2 + bf — CZ N
Hypotenuse ( kﬂ\ +(kj) - ( hj P)
Opposite
Adjacent  \\R

OpY

~d;



Precalc Section 4.3 2019.notebook December 11, 2019

Six Trig functions
Cosecant )
_ Opp Csco= B
g OPP SN hyp Opp
ad) Secont h
) 0050 = 2d) Seco = —Ojﬂ)ﬁ
SRACATS hyp
Co+ﬁ"5¢ﬂ'} d
fan 6= OPP cot 6 :-OQ'S‘
ad) P
Find the value of all six trig functions
X 46 =% sinp= Ll =>
X1z 64-30
cose =M .7
1= V3g Ty
X= 27 _ 3@ =3[

4
3
Sec= i’-ﬁ el

ot6°>

<S5



Precalc Section 4.3 2019.notebook

December 11, 2019

Assume that 6 is an acute angle in a right triangle
satisfying the given conditions. Find the remaining

trig functions.
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Find each value of 0 in degrees (0° < 0 <90°) and
radians (0 < 6 <m/2) without using a calculator.

O=60
a) cosf = \2/2 b) tanf = 1_l>|>{> C) esef==2- O= %

ad) hgp | ad)
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2 = 3
AN

Use the given function value(s) to find the exact value of each

indicated trigonometric function.
opP _' >
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a) csc 30°= gl =] b) cot 60°= L =3
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Use the given function value(s) to find the exact value of each
indicated trigonometric function.
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¢)cot(90°-0) =2IC  g)sing = 2C
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Evaluate without using a calculator.

SGC(%—): % - cos(%)
Cos(38) =V
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How do you find cotf, csch, secO on the

calculator?z\/» Mode
csc 19°

Degree Mode

L
Sin|a° >0715

seclau’
sec 1.24
Rac\ 1N Mode
|
cos [-24
1
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Solve for the variable shown.
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Section 4.3 Pg. 284-287
Problems: #7, 13, 15, 21, 23-28, 31, 33, 37, 39, 53, 55, 58, 66, 67, 82
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